HEETE

k=1

e I 7K B SR K S B D — B & SE 9 % 541

HERIET AGE FERAKSH CERRI0ESAIFE16E) O—F 2RO X HICHKIET 5,

MEH1EZRDLSIZHD D,
MRS 1 (F215:B4R)

B4 FEAR 4 7K B R4
mEES ==X {vA B4 BT B4
13m m 1 A%7=0 350|135 A — by 7= b 2104
20mm
25mm 1 HH7=0 893 (1 X 5 A — F VY720 210
40m m 1 HH7=0 1,967TH |1 5 A — F L7201 210
50m m 1 HH7=0 7,158/ |1 325 A — F VY720 210
75mm 1 HH7=0 10, 739 |1 S 5 A — F L4720 210
100mm |1 %720 13,4221 3 5 A — F V4720 210
fis PR A 7K
iR PRERBEBRAICEAT 285G |13 FA— LY 72D 125M
R téf%ﬁﬁ%EODﬂﬁ——&%Eﬁc:ﬁﬁﬁﬁif%5I\iji)l__}\ﬂ/géﬁlb 37811
=
R . ke
a0 TROERATRY Gy | s
=
B HI

ZOEENE, ER2TE4A A 1 B ST 5,



